
Instructions
1. Read the journal. All the answers will be found there.
2. Go to www.cpdjournals.co.za to answer the questions.
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1. True (A) or false (B) - click on the right answer.
Of women with early breast cancer who receive chemotherapy, 
70 - 80% do not benefit from the treatment.

2. True (A) or false (B) - click on the right answer.
Since there is clear evidence that genetic profiling of breast 
cancer dramatically improves patient survival, it should be 
applied in all cases.

3. True (A) or false (B) - click on the right answer.
Necrotising enterocolitis (NEC) is a low-grade chronic 
condition that occurs only in the elderly.

4. True (A) or false (B) - click on the right answer.
NEC carries a high mortality and morbidity in affected infants. 

5. True (A) or false (B) - click on the right answer.
The aetiology of NEC is probably multifactorial, including 
prematurity and infection.

6. True (A) or false (B) - click on the right answer.
Formula milk is associated with a reduced risk in NEC 
compared with donor milk.

7. True (A) or false (B) - click on the right answer.
The risks of transmission of TB in prisons are increased 
because of overcrowding.

8. True (A) or false (B) - click on the right answer.
In sub-Saharan Africa, the TB burden is exacerbated by the 
high prevalence of HIV infection.

9. True (A) or false (B) - click on the right answer.
South Africa has the fourth-highest global incarceration rate.

10. True (A) or false (B) - click on the right answer.
Awaiting-sentencing and awaiting-trial prisoners are always 
provided with individual prison rooms.

11. True (A) or false (B) - click on the right answer.
South African prisons do not have a tuberculosis (TB) control 
programme.

12. True (A) or false (B) - click on the right answer.
The following is attributed to Dostoevsky: ‘A society should be 
judged not by how it treats its outstanding citizens but by how it 
treats its criminals.’

13. True (A) or false (B) - click on the right answer.
Conditions under which awaiting-trial South African prisoners 
are confined are above national and international standards.

14. True (A) or false (B) - click on the right answer.
Sexual impropriety may be categorised as behaviour, gestures 
or expressions that are sexually suggestive, seductive or 
disrespectful of a patient’s privacy or sexually demeaning to 
a patient.

15. True (A) or false (B) - click on the right answer.
Sexual violation can be categorised as physical sexual contact 
between a doctor and a patient, whether or not it was consensual 
and/or initiated by the patient.

16. True (A) or false (B) - click on the right answer.
Another example of a sexual violation is exchange of 
prescriptions or other professional services for sexual favours. 

17. True (A) or false (B) - click on the right answer.
Patients never falsely accuse doctors of sexual impropriety.

18. True (A) or false (B) - click on the right answer.
The main difference between an intimate examination and its 
potential to be labelled a crime is the practitioner’s intention 
that the process is not meant to be sexual or sinister.

19. True (A) or false (B) - click on the right answer.
Chaperones primarily protect the patient but also act as a risk 
management strategy for practitioners.

20. True (A) or false (B) - click on the right answer.
It would be prudent to ask patients if they would like to have 
a chaperone present so that any objections can be timeously 
voiced.


